
TEST YOURSELF

Define an array of type int named scores
that matches the array illustrated at the right.

Presenter Notes
Presentation Notes
Take a few moments and test yourself and how well you followed the preceding discussion. Write the single statement that defines an array of integers, named "scores," that corresponds to the illustration at the right.




ANSWER

int scores[5][3];
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Presenter Notes
Presentation Notes
The illustrated array has 5 rows and 3 columns. The definition includes the datatype "int," the array name, "scores," and the sizes. The number of rows is the first size, and the number of columns is the second size. It’s important to notice that a definition does not include an assignment operation.




TEST YOURSELF

Write an expression that accesses the shaded 
array element in the array named scores

Presenter Notes
Presentation Notes
Again, take a few moments and test yourself and how well you followed the preceding discussion. Write a single expression that accesses the shaded array element in the illustration on the right assuming that the array is named "scores."




ANSWER

scores[3][1]

Which may be used wherever an integer 
variable may be used:

scores[3][1] = 100;

int x = scores[3][1] / total;

cout << scores[3][1] << endl;
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Presenter Notes
Presentation Notes
Recall that each array index begins at zero and that the maximum array index is one less than the size of the array. So, in this problem the shaded square is on row 3 and at column 1.
 
Notice that when we write an expression to access a single array element that the datatype is not a part of the expression. It’s easier to understand this restriction if we recall that the expression represents an integer variable that it can be used wherever such a variable is needed. It would be a syntax error to put a datatype before the array name in these expressions.




TEST YOURSELF

Write a statement that stores 50 in the 
shaded array element in the array named 
scores but does not change the values 

stored in the other elements

Presenter Notes
Presentation Notes
One more test. This time write a statement that stores 50 in the shaded element without changing the values stored in any of the other elements.




ANSWER

scores[3][1] = 50;
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Presenter Notes
Presentation Notes
The answer to the last question really gave away the answer to this question. The shaded region is at row 3 and column 1 because both array dimensions are zero-indexed. So, the left-hand side of the assignment statement is the array name and indexes, while the right-hand side is the value to store. Notice, that like all statements, this one ends with a semicolon.




A COMMON ERROR

int counter = 100;

int scores[3][1] = 50;
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Presenter Notes
Presentation Notes
Finally, there is one common error of which you need to be aware. It is often convenient for us to combine a variable definition and its initialization into a single statement. When we are dealing with a simple datatype like an integer, combining the two operations in a single statement does not cause a problem – nevertheless, it is two distinct operations.
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